B02 / BO3

6012061
8012061

Material * Only left side depicted

No. Plan Article Quantity * Quantities are for one side

1 X003872 1901134 1

2 Y017946 1759204 1 B66 TYPE V_SER'ES FlXED Plan No.

3 M6 DIN125A 1000973 2

. V620 1SO7380 1006999 ) SH|1EE3T 1/3 BO2 - BO3 ARMREST E000739/F

5 M6x12 DIN9S6 1008492 2 Scale: : Drafted Verified Confirmed 3 V/’
EOOO739 / F 6 M6x60 1SO7380 1992915 5 Date 19/07/2011 | 21/06/2021 | 21/06/2021

Initials TT T PJ 000




L1¥2061
Olv.06l

Material . * Only left side depicted

No. Plan Article Quantity * Quantities are for one side

1 X003872 1901134 1

2 Y017946 1759204 1 866 TYPE V_SER'ES FlXED Plan No.

3 M6 DIN125A 1000973 2

SN ool B el : SHEET2/3  BO4-B05ARMREST  |Eo00730/F

5 M6 DIN985 1001680 2 Scale: 1:4 Drafted Verified Confirmed 3 V/’
EO00739 / F 6 M6x10 1SO7380 1900641 2 Date 19/07/2011 | 21/06/2021 | 21/06/2021

Initials T T PJ 000




E000739 / F

Material

No. Plan Article Quantity
1 X003872 1901134 1

2 Y017946 1759204 1

3 M6 DIN125A 1000973 2

4 M6x20 ISO7380 1006999 2

5 M5 DIN985 1001679 2

6 M5x16 DIN912 1007198 2

7 M5 DIN127B 1906561 2

* Only left side depicted
* Quantities are for one side

8crv ol
XA44"6)

B66 TYPE V-SERIES FIXED
SHEET 3/3 BI5 - BO4DL ARMREST E000739/F
Scale: 1:4 Drafted Verified Confirmed \\V/’/
Dot 19/07/2011 | 21/06/2021 | 21/06/2021
Initials T T PJ 000,




